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An answer that includes at least one similarity and one
difference to gain maximum marks:

similariti
* both involve the overlap of two (atomic) orbitals
(each containing a single electron) (1
« both involve an electrostatic attraction between a
bonding pair of electrons and two nuclei )
Differences:

the o bond represents electron density/electrons
between the two carbon atoms/nuclei/end-on
overlapping of atomic orbitals (€8}

the n bond represents electron density/electrons
above and below the o bond/ sideways
overlapping of orbitals

(1)

the o bond is formed by the overlap of a single
lobe from one (atomic) orbital with a single lobe
from the another (atomic) orbital (1

the = bond is formed by the overlap of two lobes
from one (atomic) orbital with two lobes of
another (atomic) orbital (1

Accept electrostatic attraction between a shared
pair of electrons and two nuclei

Accept end-to-end/head-on/axial overlapping
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